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EHKDES (m) Bokamnso PE TR W o
B o = B ok A6 0 (m) B KB ERREfE At FEUEKIR
1,000 2,000 @ 3,000 5,000 (m) (Km) (C)
Ay, = 6.84
Ap,= 210
A,,= 0.80
- A, = 0.49
2011. 4. 8 5.1 6.3 8.2 7.4 5, 060 15.0 12.0
x4 Ago= 0.30
Ap,= 017
Ago= 0.07
Ay, = 0.02
Ag,= 3.03
Ay, = 1.69
KR 2011. 5.16 | 2.6 = 1.4 — — 2, 300 Ay, = 1.00 18.0
Ago= 0.5
Ay, = 0.19
A, ,= 8.46
N 2011. 5.17 5.2 5.6 5.0 — 4, 300 Ag,= 1.68 17.0
Ay, = 0.01
Ay, = 1.28
Ay, = 0.82
xR 2011. 7.21 2.0 — — — 1, 500 Ay, = 0.40 26.0
Ay, = 0.15
Ay, = 0.02
Ay = 6.20
N A = 2.05
. 10. . 1.5 1.7 — 2.0 .
K AR 2011. 10. 20 1.7 4, 470 Ay, = 0.93 23.0
Ay = 0.30
Ay, = 18.20
N E 2011.10. 21 7.8 5.1 4.6 3.3 8, 000 Ao = 452 23.0
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